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NOTE: i) This section consists of 20 part questions and all are to be answered:| \vrite this Code No. in the Answerscript.
Each question carries one mark.
i) Do not copy the part questions in your answerbook. Write only the answer in full against the proper
number of the question and its part.
iii) The code of your question paper is to be written in bold letters in the beginning of the answerscript.
iv) The use of calculator is allowed. All notations are used in their usual meanings.

1. Choose the correct answer for each from the given options:

d
i) — Ine¥ =
dx
2 1 2
* X * * ~ * In x
e
d
i) If —yzl, then:
dx
* * y=x’+c  * y?=x+c  * y=—X+C
i) jtan 45°0x = :
* * sec’45° +¢  * Insec45° +c * cot45° +¢
iv) Iex sinx+cosx dx=:
* e cosXx+cC * —e*cosx+cC * * e*+c
dx
V) _— =
-[ X+1 x+2
* In x+1 —In x+2 +c * In x+1 +In x+2 +c
In x+1 In x+2
——+¢C * ——+¢C
In x+2 In x+1
Vi) Equation of a circle with centre (0, -5) and diameter 4 units is:
* X>+(y+5)° =4 * X-5°+ y—07’=42
* X2+ y—5° =42 * X+5°+y?=4
vii) This circle has its centre on y—axis:
* X +y?+2x+3=0 * x*+y°-2y-3=0
* X2 +y2+3x+2y =0 * X* +y?+3x+2y =2
viii)  The length of the latus rectum of parabola X —1 ?-_8 y+2 s
* 2 units * 4 units * 6 units *
_ Xy
iX) The centre of ellipse —+-—=1is:
25 9
* 5,0 * 3,5 * 0,0 * 5,3
X) If @ =2, then conic is:
* ellipse * parabola * hyperbola * circle
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Write this Code No. in the Answerscript.

Xi) If three vectors 5,5,6 are coplanar, then [5 5 E} =
* 1 * @ * 6 * a
Xii) Direction cosines of the vector I + j—l2 are:
Lo Lt Lol
NERNERNE] V3’3’43
1 1 -1
* 11,-1 * = =
V3'\3'\3

xii) If f: -1,5 ——[] isdefinedby f X =Xx"then f -2 =

* 4 * -2 * * 4
_ et -1
Xiv) lim =:
x—0 X
X 1
* e*lna * * In x * —
In x
sin = X
XV) lim—3— —.
x>0 2%
3 2 1
* 1 * — * —_ * —
2 3 3
XVi) The slope of a straight line which bisects the first and third quadrants is:
* * O * _1 * o0
xvii)  The area of a triangle whose vertices are (0, 0), (2, 0) and (0, 4) is:
* 8 sg.units * * 2 sq.units * 1 sq.unit
xviii)  If the equation of a straight line is 3X— Yy +5=0, then the point (1,2) lies:
* above the line * below the ling  * on the line * on both sides of the line

Xix) Two straight lines represented by ax® + 2hxy + by2 =0 will be coincident if:

* a+b=0 * a=b * h’+ab=0 =*

XX) The point of concurrency of the medians of a triangle is called:
* Incentre * [Centriod| * Orthocentre ~ * Circumcentre



